(/RS FASTENING SYSTEMS
INTERNATIONAL, i

www.fsirivet.com

D-9000-MIL-1
BLIND FASTENER INSTALLATION TOOL KIT
NSN 5180-01-470-6538

KIT CONTENTS

DESCRIPTION

QTY PART NUMBER
1EA D-700C
1EA PT-100M
1EA PT-4000
1EA D-28
1EA F-4000A
2 EA F-3001A
1EA F156
1EA F159

4 EA F143
1EA F142
1EA F168
1EA F169
1EA F580
1EA F396
1EA F398
1EA F155
1EA F390
1EA F391
1EA F392
1EA F393
1EA F501
1EA F502
1EA F503
1EA F505U
1EA F506
1EA F360
1EA F367
1EA F361
1EA F364
1EA F372
1EA F176

SUPPLIER CAGE CODE: 64878

FASTENING SYSTEMS INTERNATIONAL, INC
SONOMA, CA 95476

1 OF 2 PAGES

HAND HYDRAULIC RIVETER, PRESSURE VALVE
AIR HYDRAULIC RIVETER
CORDLESS RIVETER

HAND RIVETER

BATTERY CHARGER, SMART
BATTERY PACK, Ni-MH (12v, 3.2AH)
3/32-1/8 NOSEPIECE

1/8 NOSEPIECE

1/8-3/16 NOSEPIECE

1/4 NOSEPIECE

3/16 MONOBOLT NOSEPIECE

1/4 MONOBOLT NOSEPIECE
3/16 MS NOSEPIECE

3/16 BULBTITE NOSEPIECE

1/4 BULBTITE NOSEPIECE

1/4 “T” RIVET NOSEPIECE

3/32 NAS 1400A NOSEPIECE

1/8 NAS 1400A NOSEPIECE

5/32 NAS 1400A NOSEPIECE

3/16 NAS 1400A NOSEPIECE

1/8 NAS 1900S NOSEPIECE
5/32 NAS 1900S NOSEPIECE
3/16 NAS 1900S NOSEPIECE
5/32 MS90353/54-S/U NOSEPIECE
3/16 MS90353/54-S/U NOSEPIECE
6-32 PULL-UP STUD

NO. 6 ANVIL

8-32 PULL-UP STUD

NO. 8 ANVIL

10-24 PULL-UP STUD

NO. 10 TSN ANVIL



(/RS FASTENING SYSTEMS
INTERNATIONAL, i

www.fsirivet.com

PAGE 2

D-9000-MIL-1 KIT CONTENTS
1EA F362
1EA F365
1EA F373
1EA F177
1EA F363
1EA F366
1EA F374
2 EA F378
1EA F377
1EA F375
1EA F379
1EA F384
1EA F365M
1EA F380
1EA F366M
1EA F386
1EA F378M
1EA F387
1EA F379M
1EA F170-A
1EA F171
1EA F187-3BCM
1EA F187-3ACM
1EA F187-1AR
1EA F687-1AF
1EA F687-2A
3 EA F702
6 EA F122-A
3 EA F123
1EA F123-A
1EA F123-B
1EA F128
1EA F758
1EA F958
1EA F990
1EA F3245
1EA F3081-A
1EA F101
1EA F269C3
1EA F609A
1EA F701-D9
1EA F755-D9000

SUPPLIER CAGE CODE: 64878

FASTENING SYSTEMS INTERNATIONAL, INC.
1206 EAST MACARTHUR STREET

SONOMA, CA 95476-1372

10-32 PULL-UP STUD

NO. 10 ANVIL

1/4-20 PULL-UP STUD

NO. 1/4 TSN ANVIL

1/4-28 PULL-UP STUD

NO. 1/4 ANVIL

5/16-18 PULL-UP STUD

NO. 5/16 ANVIL

5/16-24 PULL-UP STUD

3/8-16 PULL-UP STUD

3/8 ANVIL

5 MM PULL-UP STUD

5 MM ANVIL

6 MM PULL-UP STUD

6 MM ANVIL

8 MM PULL-UP STUD

8 MM ANVIL

10 MM PULL-UP STUD

10 MM ANVIL

MASTERSHAFT

TURN NUT

ADAPTER SHAFT, COMPENSATING
ADAPTER SHAFT, THROUGH HOLE
ADAPTER SLEEVE, ROTATING
ADAPTER SLEEVE, FLATS
ADAPTER SHAFT, MS STYLE
SPARE PARTS CANISTER

2 PIECE CAST JAW SET

3 PIECE CAST JAW SET

3 PIECE JAW SET/ BB 5/32
3PIECE JAW SET/ BB 3/16

JAW HOLDER, BLIND BOLTS
JAW PUSHER BB, D-700

JAW PUSHER. PT-100

JAW PUSHER SPRING, PT-100
1/4 JAW FOLLOWER

JAW PUSHER SPRING

RIVET NUT STROKE GAGE
RIVET GRIP GAGE

METAL WEATHER TIGHT CASE
CD-ROM, USER MANUAL
LAMINATED TOOL ASSY CARDS



